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Chapter ]

7.1 Solve Linear Systems by Graphing
Goal « Graph and solve systems of linear equations.
Your Notes

VOCABULARY

Systems of linear equations

A system of linear equations consists of two or more linear equations in the same
variables.

Solution of a system of linear equations.

A solution of a system of linear equations in two variables is an ordered pair that satisfies
each equation in the system.

Consistent independent system
A linear system that has exactly one solution

SOLVING A LINEAR SYSTEM USING THE GRAPH-AND-CHECK
METHOD

Step 1 __Graph _ both equations in the same coordinate plane. For ease of graphing, you
may want to write each equation in _slope-intercept form .

Step 2 Estimate the coordinates of the _point of intersection .

Step 3 _Check _the coordinates algebraically by substituting into each equation of the
original linear system.



Your Notes

Example 1
Use the graph-and-check method

Solve the linear system: 3x +y =9 Equation 1
x-y=1 Equation 2

Solution
1. __Graph _ both equations.
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To ease graphing,
write each
equation in slope
intercept form.

2. Estimate the point of intersection. The two lines appear to intersectat (_2_,_3 ).

3. Check whether (_2_, _3 ) is a solution by substituting _2_for x and _3 for y in each
of the original equations. :

Equation 1 Equation 2-

3x+y=9 x—-y=-1

_3@)+3 29 2-3 1-1
1 =-17

Because (_2_, _3_) is a solution of each equation in the linear system, it is a _solution of
the linear system .




HINT® On the side, rewrite equations in
slope -intercepy form!
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ST Practice B
IA For use with pages 426—434

HINT: Plug the ordered pair

Tell whether the ordered pair is a solution of the linear system. into both eqouations.
1. (4,1); 2. (—2,1) 3. (4,-3)
x+2y=6 5x—2y=-12 —3x+2y=-18
3x+y=11 x+3y=1 6x —y =27 ‘ : ]
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Use the graph to solve the linear system. Check your solution. g—_
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wsov | Pra ctice B coninver
1.1 For use with pages 426—434
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1.1 For use with pages 426—434
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22. Hanging Flower Baskets You will be makihg hanging flower

baskets. The plants you have picked out are blooming annuals = 32
and non-blooming annuals. The blooming annuals cost $3.20  **V7| 2 325
each and the non-blooming annuals cost $1.50 each. You bought :1(3(4 | & 28
a total] of 24 plants for $49.60. Write a linear system of equations w " “E 24 \0)
that you can use to find how many of each type of plant you L;S{ 8 20
bought. Then graph the linear system and use the graph to find ‘; u | g8 S o
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23. Baseball Outs In a game, 12 ofa baseball team’s 27 outs y ‘20:
were fly balls. Twenty-five percent of the outs made by infielders £ 32 =
and 100% of the outs made by outfielders were fly balls. E 28\ 2
E 24 s
a. Write a linear system you can use to find the number of outs E 20 AN 5
‘ made by infielders and the number of outs made by outfielders. <16 \\\ é
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b. Graph your linear system. g
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7.4 ELIMINATION USING MULTIPLICATION #
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Your Notes
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Y&y solve Linear Systems
by Multiplying First

Goal® - Solve linear systems by multiplying first.

Y Multiply one equation, then add

Solve the:iih'eér system: 3x — 3y = 21 Equation 1
| 8x + 6y = —14  Equation 2
Solution

1. Multiply Equation 1 by 2 so that the coefficients of
y are _opposites .

3 —3y =21 : Bx—6y= 42

8x + 6y = —14 8x + 6y = —14
2. Add the equations. 14x = 28
3. Solve for x. x= 2

4. Substitute 2 for x in either of the original
equations and solve for y. -

33X —3y =21 ~ Write Equation 1.
3(2)—3y=21 Substitute 2 for x.
o y=_—5  Solve fory.
The solutionis ( 2 , —5).

CHECK Substitute 2 for xand —5 fory in the

original equations.
Equation 1 Equation 2
3x—-3y=21 8x + 6y = —14

3( 2 )—3(-5)2214 8 2 )+6(-5)2-14

21 =21/ —14 =-14/

®
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Your Notes

Multiply both equations, then subtract

olve the linear system:

Solution
columns.
2x + 3y = 17
3x + 5y = 27

2x+3y=17

4. Solve for y.

3x + 5y = 27
3x +5(3)=27
x=_4

The solution is (

B o
X2

3x + By =27  XE

Ny

3. Subtract the equations.

4, 3).

y = —2x + 17
3x + by = 27

1. Arrange the equations so that like terms are in

Rewrite Equation 1.
Write Equation 2.

| Equation 1
Equation 2

2. Multiply Equation 1 by _3 and Equation 2 by 2 so
that the coefficient of x in each equation is the least .
common multiple of 2 and 3,0r 6 .

6 x+ 9 y= 51
6 x+ 10y= 54
—1y =_-3
y=_3

5. Substitute _3 for y in either of the original
equations and solve for x.

Write Equation 2.
Substitute 3 forx.

Solve for x.

@ checkpoint Solve the linear system using elimination.

| 1. 7x + 2y = 26 .2K/5y/9x—,8 )
a ) 10x — 5y/—w —.,10' —20x + 10y -»-.—%0 |
Homework (2 6) vl Al (-8 = )l ¢ e
ff)‘/- N0 f‘}\/-‘”;’ )& ) §
DA (-3, )
N y |
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Name

LESSON

14

Practice C

: For use with pages 451457

Solve the linear systeni_ ‘by using elimination.

1. —3x+ 5y =28 (4‘ €>

9x + 4y = 68

4. 8x — 6y = —-140(~ o \l\:> | 5

3x+ 5y =20

7. 3x+9 =27
Mx+@w13()‘>

10. 6x— 1ly=-93 ,
{
15x + 13y =132 -

. 2+ Ty=-13 (ﬂ)\,b 3.

—3x+ 14y = -5
. 4x+9=-53 , o 6
—6x;—4y=32<< QD J>
8. —fx+5y=6 o.
6x—3y=6 (t%‘”%)
11. —15x+4y=—2 >12.
e (A0

Solve the linear system by using any algebraic method.

—3x + 6y = —69

—6x + 12y = 48 —>
—7x+ 18y =84 (T

=R oW

12x+ 5y =92 ¢

O9x — 8y = -3 ( ,4_7,)
lx—12p=—6 " .

1.5x + 2.6y = —12.7
—45x + 0.3y =219

2 1 _ 1

3* "¢ 3
U Uy

1 .3 _16 k t)

XTI =1s .

13. 04x +0.1y=0.7 > 14. 4x-3y=7 H 7)} 15.
x—y=3 ( € 1.5x+y=

16. x+y=7 \ 17 4x+y—-———( \ 18.
%x—%y=%{uil> 5x—2y“—-3 >

19. Find the values of a andbso thatthe linear system has a solution of (2, 4).
ax—by=0 Equauonl () @/
bx —ay=—6 Equation 2

0=

20. . Lift Tickets Two families go skiing on a-Saturday. One family purchases two adult
lift tickets and four youth lift:tickets for $166. Another family purchases four adult
lift tickets and five youth lift tickets for $263. Let x represent the cost in dollars of
one adult lift ticket and let y represent the cost in dollars of one youth lift ticket.

a. Write a linear system that represents this situation.
b. Solve the linear system to find the cost of one adult and one yo

awu\AUw

thi?ﬁtlc ket.

~—

’\ ‘U :.;,/:,f
outin: 8,

c. How much would it cost two adults and five youths to ski fora day?ﬁ l g q

21.

Asian Cuisine A group of your friends goes to a restaurant that features different
Asian foods. There are eight people in 'your group. Some of the group order the Thai

5Thau

(”v

special for $14.25 and the rest of the group order the Szechwan special for $13.95. ./, ¢

If the total bill was $113. 10, how many people ordered each dinner?

22.

Getting to School You walk 1.75 miles to school at an average speed  (in miles per

< A

H/NT

.hour) On the way back home, you are walking with a friend and your average speed D ISTVCE = RATE & Tt

is r The round tnp took a total of 90 minutes. Find the average speed for each leg

of your trip.

©
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CONCEPT SUMMARY

For Your e

When to Use

When x-values are integers, so that
equal values cn be seen in the table

—1

//

When you want to see the lines that the
equations represent

b_ 3 \ l M
Substitution (p. 435) y=4-2x When one equation is already sol
- 4x+2y=38 forxory :
Addition (p. 444), 4 +7y=15 When the coefficients of one variable
- 6x —7y=5 are opposites

xX+y=

Subt'raction(b.445) o 3x+ Sy=—i3',. '

=5

When the coefficients of one variable
are the same

Multiplication (p, 451)  9x + 2y =38
- - 3x—5y=7

When no corresponding coefficients are

the same or opposites

Answer Key

D R TN

Lesson 7.4

Praqtice Level C -

1.(4,8) 2.(-3,-1) 3.(5—9)

a.(~10,10) 5.(—2, —5) 6.(6,7)

7.(0,3) 8.(8,14) 9.(6,4) 10.(1,9)
11.(2,7) 12.(=3,-3) 13.(2, —1) 14.(4,3)
15.(-5,-2) 16.(6,1) 17.(-1,3)
18.(—4,4) 19.a=2,b=1
20. a. 2x + 4y = 166 and 4x + 5y = 263
b. Adult: $37; Youth: $23 c. $189

21. Thai: 5 people; Schezwan: 3 people
22. To school: 2.72 mi/h; Home: 2.04 mi/h

B o e i
CESSEE T
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7.5 Special Types of Linear Systems

System of Equations Solve by Graphing Solution
7 .>._.
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System of Equations

Solve Al” = u Jically

Solution u _

2x—-y=8
x-3y=4

o
AL

7
S0 e

P? Qv

S5x+y=-2
-10x—-2y=4

6x+2y=3

Ix+y=—~—
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m Practice C
- For use with pages 459—465

Y\

car s meb

. ‘
. Match the linear system W|th its graph Then use the graph to tell whether
the linear system has one solution, no solut:on, or mf' nitely many , .
solutions. [ - : L ' ' — '
' @ P \v)l 2 B8 o 53 ( 10V
- 1. 6x+4yT,,75\)f5~%'-7 3x 312 e qu 3. y:ngW \L\k
| 2 5 y I —- — — \ E
7\1\"‘{‘1‘- / A. [ Yl | B. y a . C. AN g o
AL 1IN«
QO\ IS P , ‘ i V4 NP
4 ~ AT, - Pe N 1 = X{ <
( N -3 |'= \ x
- VERNT NI |
1 11—/ RS N
2] A 3
=y 1. x \X‘
7 -
)

Graph the linear system Then use the graph to tell whether the Imear "
system has one solutton, no solut:on, or mfimtely many solutions.

——r PR
T ara il T

aunossa1

‘4. 4y=3x-+20\/“u X%% "5. 3x+2y 8 ['3 {j” 6. 3y— 4x—6 ‘} >(£Q
Ay +12 =5x-hy ’X —2x+3y 6\/ 5({"6'. y=ix+2 . i
\E’UWC Sl 7,7’, T /"’H_%J -
A L IRE T &H SE \wni w\l )
Al A s e, aand ‘
- Y 4 = i
E- ,/7 . / ) 3“,‘\,""—?‘ _, ) -'
E 24 3 A1t O
3 ] . :
= =t A | 6 10 1A, -3 J/— L x
é. J/t . : ' =3/ :—_1 \ik x../ ) ] 15 | .
= /. ; . T Lo o T
‘g 7. Fx+ 4y'=.—24 \{‘Q 5A 8. 2.+ 3y=-1 *{a .(\M : ,/—-5x+2y—3 y= Wf
g 1 1 — : ', 3 ,- — - = » )‘ =
B TN 4 A y 1. . I ‘
B - \\ 21— -y T 3 : s —3
é ’ .._.7" 2 x| - o / / . . /
E—- 1 AN T LF . i ;
2 B ‘_U ) —a. —;_"1” 3 == "3 x
E: 1 sl L L3 ™~ £ 3
o N F i
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Chapter 7 Resource Book . 57~




58

Y]

LESSON7S: '

& 16 4p=12x—1 | |

10. —x+2y=—4
—3x+4y=4"

<\
L)

13. —2x+ 5y =—10

55— 2x=5 V

St dy=—1
_3x+2y 4 (\ A

Pra cti ce C continued
15 For use with pages 459-465 ’

4x+3y 2
2.x+‘2y—l.

‘4 A
| ) A N
MO

L

THEY

solutlon, no. solution, or mf' nitely many solut:ons:

.

—12x + .?)y = —lg//j"‘

19. 5y —4x=3
'10y—8x+6

22. 2y—-x—3
2x+y=26

\ )

. x+d4y=3 >/
.. 1 - )
?x+2y——4

i

B y—-}Ix=—-2'\ A
‘ x—2y=28 L

—3x +dy=—4

'.4x'+3y'=2 )

. Solve the lmear system by usmg substltutlon or ellmmatlon

12 X+ 8y =16
-3x+ 8 =-8
15. 2y — 10z = —8

Y

2y—'x=4... ’;

- Wlthout solvmg the linear system, ell whether the linear system has one
18, —2x+3y=4 l/ -
gy \ -

’

213y +sx=1 (/)

=i

25. Restaurant Sales The table below shows the number of each of the spec1als that ‘
' has been sold ona Fnday mght and a Saturday night.

Friday

Saturday

33

a. Let x represent the cost (in dollars) of the vegetanan special and let y represent oX ]
the cost (in dollars) of the chicken special. Write.a hnear system ‘that models the\ | X 13 w (=]

s1tuat10n

b. Solve the hnear system. | U &

I

c. Can you determine how much each lcmd of spec1al costs? Why or why not‘? 3\ L

26. Retail Pnces Two employees ata store are given the task of puttmg price tags on 1tems il

One person starts pricing items at a rate of 10 items per ‘minute. The second person starts.
* 10 minutes after the first person and pnces items at a rate of 8 items per minute,

a. Letybethe number of items. priced x mmutes after the ﬁrst person starts pricing.
Write a linear system that models the s1tuat10n

b. Solve the hnear system

c. Does the sqlution of the linear system make sense m the context of: the problem‘7

Explazn

‘

‘Algebra 1
Chapter 7 Resource Book
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Solve Linear Systems of

Linear Inequalities
. Solve systems of linear inequalities in two
variables. '
- Your Notes VOCABULARY
System of linear inequalities |
\‘ O My« A \ NEgU 1 T+

N e Sume VUt

Solution of a system of linear inequalities

= . eath incqualiry in T

\

foun b 1 4V N (Ureg

Graph of a system of linear inequalities

WO WU )

AL U - ; | ¥ ‘;"'_“
y ' M A

GRAPHING A SYSTEM OF LINEAR INEQUALITIES

Step 1 (-

2 : Sfep 2 Find the |\ * 0/ of the graphs. The
S graph of the system is this intersection.

@

Copyright © McDougal Littell/Houghton Mifflin Company.

{ (LN each inequality.
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Your Notes

ol BN Graph a system of three linear inequalities

Graph the system of inequalities. ~—/
y>1 Inequality 1

x<4 Inequality 2

3y < 6x = 6 Inequality 3

SO|YI'€%>I<I- o

Graph all three inequalities in the same coordinate plane.
The graph of the system is the |/ *(710()  shown.

The region is (i\o0y¢  the line y 4
y=1. 5 -
The region ispy) and fH Hhe =
¢/ of the line x = 4. ) > I
L r] e

The regionis { [\, the line — 14 3 &
3y = 6x — 6. 7 ,

. . | W/

Q Checkpoint Graph the system of linear equations.

, SN
L.x+y<5\s y4+qg ™ 7 7
y<x+4+ 3 = 5
Vi Pas 2%
\
. -~1 > ag
ATTN >
2. x> =2 k‘\'/\‘ y
y<4 = %\
& s =
3x + 4y < 24 x S
L \"/ V! '( ,2\ 4=6" v P “:- b [ €
i x’ \/éﬁi‘(y < |- ks ( ‘N
< \/’ .

4 Lesson 7.6 = Algebra 1 Notetaking Guide Copyright © McDougal Littell/Houghton Mifflin Company.



Your Notes

Write a system of inequalities for the shaded region.

Solution

Inequality 1 One boundary
line for the shaded region

-

N =~ Because the i
sha ed reglon is | [ /¢ the 3 1=

_iL_\_Q__ line, the inequality
is' \| Z— L5
Inequality 2 Another boundary 5

line for the shaded region has
a slope of \ and a y-intercept of l . So, its equation

is \[Z K- . Because the shaded region is hg [m(

the %D\éé line, the inequality is\] £ Y- .

The system of inequalities for the shaded region is:
g z 02 Inequality 1

: \Z L Y-\ Inequality 2

@ checkpoint Write a system of |nequal|t|es that defines
the shaded region.

" 3. Y 4.' y
5/

a

—
Homework

w \/ L X465 '\/ R

Copyright © McDougal Littell/Houghton Mifflin Company.
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| =Tl Practice C
o . For use with pages 466—472

Tell whether the ordered pair is a solution of the system of inequalities.

1. (0,1) NO 2. (0,-1) NO 3. (1,4 \/{S
T 3

Match the system of inequalities with its graph.

A -Z Y ¢
4. 3x+2 2%4 N 31:) XYl B, 3x+2 2;4 N2 2° < 6. 3x—2y
2y & -
y>4-—-x (C/ xry<4-—x @ x+y<4-x
A. \ ool B. N ¥ ’ C. -4
/
$ | x
._2(') -—
<
Graph the system of inequalities. §
: > =
7. x2-2 8. x<0 9. 3x+y<0 Y4 5X S
— - - =
y<5 y>-—1 A 4x—y<1 y;_\qx | =
5 ! > : g
4 y Y | =]
Vi 5 =3 3 34 =2
= - a t : 2
3 NI Y |
& -
T S, O ; s
P 5 3 x : 32N 1 \ 3x _E
-3 o x R , X ‘=9.
| 3& Ly :;
1% \ % 4§, N S
10. x20,y=20 11. x>4,x<8 12. y>—2v20 3
: =
2x +y<3 gez-QX+3 y22x +1 y23x )
KA Y an/ 2
ry i/ £
X = 2'0 = é:
.\ 12 j (]
< . ,,\\ A /w -3 ik 32X
o 5 I i X i
S : \ =7/RAENEE S >
7 SEAT /
\ Vi v
Algebra 1 il ’ ‘/
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LESSON

1.6

Practice C coninueo
For use with pages 466—472

Write a system of inequalities for the shaded region.

13.

19.

20.

Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

v y
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14. y

|
o

PN

!

Exercise You work out at least 10 hours a week, but no more
than 15 hours a week. You divide your exercise time between
swimming and running. This week, you want to spend at least
twice the amount of time on swimming as on running. Write and
graph a system of linear inequalities that gives the amounts of
time you spend on each different kind of exercise. Then give two
possible ways you can exercise. \/, /

= ’{,)\
Y /

/ 2 il X4 _ )

School Play The tickets for a school play cost $8 for adults and
$5 for students. The auditorium in which the play is being held can
hold at most 525 people. The organizers of the school play must
make at least $3000 to cover the costs of the set constructlon
costumes, and programs. X ﬂ U G A

W0
a. Write a system of linear i meq lltles_ for the number of each
type oftlcket sold. X + 6y = 3000

4006
b. Graph the system of inequalities. | 2 5‘;

c. If the organizers sell out and sell twice as many student tickets
as adult tickets, can they reach their goal? Explazn how you got
your answer.

+

/ |~ O X

—]

o J

|
+
]
|
12
<1 4 X
i
‘!
1
y
14
12 - /
£ 1%-
£ /
£,
2
S
2 /
0o 2 4 6 81012 14x
Running
Y
- 600
3 SOON
2 400 \
£ 300 5
5 N
T 200 \
- 'm\,
“ 100 - ‘\
0 D
0 200 400 600x
Adult tickets
i'/{l & 5 -
(400 + 1150 =
\ ;
- o 2
)
Algebra 1
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Name . _ : Date

Algebra I - . Word Problems - Chaprer

1) In college, Ms. Nowalinski and her teammates were able to sell 400
tickets for their "Dancers for Cancer” benefit. Adult fickets cost $4 each
and student tickets cost $2 each. How many of each type of ticket did she
sell if her team raised $900 in ticket money? 7) > a0ULt

2.) Montgomery Middle School is holding a dance for the 7™ and 8™ graders
this Friday and 550 students bought tickets o attend.  In order to gef
more 8™ graders to attend the dance, their tickets only cost $3, while 7o
grader paid $5 per ticket. If tickef sales brought in $2250, how many gt

~ graders went to the dance? 500 TG adt

3.) You are doing.a lab for Mr. Chesbro and one of the materials you will
need is 500 milliliters of a 12% saline solution. This is unfortunate because
you only have 10% and 20% saline solutions. How much 10% solution could be
mixed with the 20% solution in order to obtain the 500 milliliters of 12%
solution you need? - {00 m} ot 07

[OO W o

4) Ms. Parker’s classes are working with copper. In her materials cabinet,

she has a metal alloy that is 25% copper and another metal alloy that is 50%
copper. Ms. Parker asks you fo make 1000 grams of a metal alloy that is 45% )
copper. How much of each of the 25% and 50% alloys will you use? */ ! "/‘bj b

BVl | [ 2

U GO 1
5.) The _8"‘ grade is going on a class trip fo the amusement park and each _
student has two different options for purchasing tickets to ride therides. .~
One option is o pay $8 to get in and then 10 cents per ride. The other "‘L“‘\J ﬂ’ l“ :
option is to pay $1 to get inand then $1 per ride. Decide when each opfion S, 1PCar
appropriate so you can help everyone figu,r¢ out which package to buy. ¢ | | 8§
6.) Ms. Nowalinski is joining a gym and has two options for a 6 month

membership. One option is to pay $200 up front and then $1 every time she

used the gym. The second option is to pay $30 up front and then pay $5

each time. Which is the better option? '

I A " " ~ .
L) - 72X Y T Q¢ AN L o
U9 Ao O less, poy §90. T4 =75 O WILE pad FO

3



Chapter 7 Word Problems Date:
(Numbers and Tickets) Item #

Example 1: Find two numbers whose sum is 64 gnd whose difference is 42.
X+ - Ky ey
SO S S ety T y=garll
X-y=d8 = Ay-g RV =4
N 4y N X? 5§

1
/ ! z

00 \{:. \\

- Example 2: Twice one number added to another number is 18. Four times
the first number minus the other number is 12. Find both numbe;s.

s

/ ==y L (- \i;'i | 9
INy=1g = A &_/é s hey=le

{ F oy O\ - N

| S Y- (s = 1o
sh i AL IR L T SRV S
X+ 30

1=¥ .
Example 3: Three times one number equals twice a second number. Twice
the first number is three more than the second number. Find both numbers.

NERN X=g[an3) AvEay

N S # ) Q///\ ) \)\/
IV =~ 2 = "4\ '7>\”L§\7\"Lﬂ y V)=
K = A= X5 =t TN



o Example 4: The length of Sally’s garden is 4 meters greater than 3 times the
e width. The perimeter of her garden is 72 meters What are the dimensions

of Sally’s garden? A
{\\ _:)a W 1 T/\) {Ly '}\J N ‘r
| gt v on AT Nt 6 et

H ‘ o ook S W nS
W= § \

Example 5: In college, Ms. Cardozo and her teammates were able to sell 300
tickets for their “Serve to Save A Kidney” Volleyball Tournament. Tickets

sold in advance were $3.00 and tickets at the door were $4.00. How many of
each type of UCket did they sell if the team raised $1,040.00 in ticket money?

1 N /j N _ \
V- 4 0P pduo 0 TS 20X A [ = 500)) /\/' >/ /u
: | | X NN ) INEN
bt RS NS AX A V\/ o4V MLk

V"' ‘: 

40

T
‘, - 1 (J/Jl\//

Example 6: In college, Ms. Nowalinski and her teammates were able to sell
400 tickets for their “Dancers for Cancer” benefit. Adult tickéts cost $4.00
each and student tickets cost $2.00 each. How many of each type of ticket
did she sell if her team ralsed $q 00 m t1cket money7

/ R ! - ¥7) )
X 1 /. ’f 9, X 2 g

l \L(\\J 4 / Sy Ly 1'Y)
‘ ) < . | / ) - P, j, S 2\

') ~7

€~



Chapter 7 Word Problems Date:
(Mixtures and Solutions) Item# _________

Example 1: How many pounds of cashew nuts that sell for $2.00 per pound
should be mixed with peanuts, which sell for $0.80 per pound, to make a 10-
pound mixture which sells for $1.28 per pound?

) ,’ ~ Y-8y 50

y
/ - [ y ,
{ ; ) | [
SO 147 >< / )
| [ |

!

Example 2: Susan wants to mix 10 pounds of Virginia peanuts that cost
$3.50 a pound with Spanish peanuts that cost $3.00 a pound to obtain a
mixture that costs $3.40 a pound. How many pounds of each type of peanut
should she use? \ 2y -2 . (

~

&

Example 3: Tanya has $235.00 in five-dollar bills and ten-dollar bills. If she
has 33 bills in all, how many of each type of bill does she.have?

/ y ‘ \ \’\[76 \ /s

,
| [}
p / /



Example 4: A lab technician has a 15% alcohol solution and a 35% alcohol
solution. She wants to make 100 gallons of a 29% alcohol solution. How
much of each type of alcohol solution should she use?

wnt of (5% -Is{XHY £(00) _I5X 15y 1500 XD
~ o - 200D 4770 = (0D
ok 2 (54 %5 = BE 100D | HXA435 ° g W07
Y o . / e X~ 5(
0,15 +.35724) S0y 1400 - X

N >{:.’ 70

Example 5: EJH Labs needs to make 1,000 gallons of a 34% acid solution. s
The only solutions available are 25% acid and 50% acid. How many gallons of
each solution should be mixed to make the 34% solution?

comk f 95, X ¥\ = 000) -a5X-a5y= -
u‘ 1V j:) N . / ! )
\/ Lt O‘( YY) AN [@f .7)4(\000) =) 35X *’)\)\/'
: Ul T U ik o o

..[ \\),/“(c a5x . C:l N { - _J Lﬁ)) Q(_;)/ 2 q

\/" A0
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7 What Kind of I hll]iB'UA

Solve each problem below using a system of two equations in two variables.
Find the solution in the answer column and notice the letter next to it. Write &
this letter in each box that contains the number of that exercise.

&

Three times the larger of two numbers s equal to four @\@%@@@@4
times the smaller. The sum of the numbers is 21. Find ‘f’/ S\T
_ L S 22,6 :

the numbers. o 2
- B = 16, & %.

The difference between two numbers is 16. Five times @ /@ 18,6 (4 .
the smaller is the same as 8 less than twice the larger. .,;,-) &

Find the numbers. . 2 " @ 11, 10 :

SR /| : «lﬁ (;4-
)y o } /1 T $20, $35 ™
o [ ) , W
The darger of two numbers is 1 more than twice the } -\ @ 12 g ,/
~smaller. The sum of the numbers is 20.less than three X ’ =

times the |arger. Find the numbers.

/{) 2 < //\’! A ' ’(r
L ] P 13, 6 ™
Two records and three tapes cost $31. Three records f’) \: " B
and two tapes cost $29. Find the cost of each record \\_\ @ 14 {4 v
and each tape. Voo £ : T o
NS dops 'f;’?\/®/$1.50 ;5‘;
. . (£ (ov ok ' : '\ a ¢ $
The sum of two numbers is the same as four times the :;, @ $8; $5 "\
smaller number. If twice the larger is decreased by the . :\ @ 24 8 (/
smaller, the result is 30. Find the numbers. Jr :§ - ' =
| ' sty T 7 (© ses, g4 )
@ A group of students go out for lunch. If two have . j\é\ ®/$5, $7 ‘%_
hamburgers and five have hot dogs, the bill will be ,’ R

$8.00. If five have hamburgers and two have hot dogs, Qa\ @ 17 (4
the bill will be $9.SQ. What is the price of a hamburger’?/r fm&@&ﬂmf

The price of a sweater is $5 less than twice the price of a shirt. If four sweaters
and three shirts cost $200, find the price of each shirt and: each sweater.

2
) k/)i&‘_ F01@ G PP : \ ( O \/) .
‘A shipment of TV sets, some weighing, 30 kg each and the others weighing

: ‘{7\ (

50 kg each, has a total weight of 880 kg. If there are 20 TV sets all together, |
12 4 8 | 6 |.2 1| 5 7 | o 7 8 8 3{,
< | | \ \ ‘ , "
@
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25 Ib at $3,
75 Ib at $5

)
el

15 b peanuts,
cashsws

i
3

120 mL Gf 95%,
ad mbs of 50%

ECmL of nO%
,00 mL 0? 15%

_,-. <

200 mLm 3=J’e,
1@3 mL of 45%

$7000.at 8 percerit,
$5000'at § percent

$3000 at & percent,

" $5000 &t 12 percent’

120 mith, 8C mih

525 mi/h, 75 milh

5b

60.

61.

62.

63.

64.

65.

66.

67.

68.

Coffee mixture. A coffee merchant has coffee beans that sell for §3
(Ib) and $5 per pound. The two types are to be mixed to create 100 D
a mixture that will sell for $4.50 per péund. How much of each type °fbean
should be used in the mixture?

% ’-':
per POuncL w3
ounds Qf-'.-‘;ﬁ‘é

Nut mixture, Peanuts are selling for $2 per pound, and cashews are selhng fc;r
$5 per pound. How much of each type of nut would be needed to create 20 1
of a mixture that would sell for $2.75 per pound? :

-

Acid solution. A chemist has a 25% and a 50% acid solution. How much of
each solution should be used to form 200 milliliters (mL) of a 35% acid solu.
tion?

Alcohol solution. A pharmacist wishes to prepare 150 mL of 2 20% alcoho]
solution. She has a 30% solution and a 15% solution in her stock. How much
of each should be used in forming the desired mixture?

-~

Alcohol solution. You have two alcohol solutions, one a 15% solution and one
a 45% solution. How much of each solution should be used to obtain 300 mL
of a 25% solution?

Tuvestment. Otis has a total of $12,000 invested in two accounts. One account
pays 8 percent.and the other 9 percent. If his interest for 1 year is $1010, how
much does he have invested at each rate?

Investment. Amy invests a part of $8000 in bonds paying 12 percent interest.
The remainder is in a savings account at 8 percent. If she receives $840 in in-
terest for 1 year, how much does she have invested at each rate?

Motion problem. A plane flys 450 miles (mi) with the wind in 3 hours ().
Flying back against the wind, the plane takes 5 h to make the trip. What was

.the rate of the plane in still air? What was the rate of the wind?

Motion problem. An airliner made a trip of 1800 mi in 3 b, flying east across
the country with the jetstream directly behind it. The return trip, against-the jet-
stream, took 4 h. Find the speed of the plane in still air and the- speed of the
jetstream.



Chapter 7: Systems of Equations
Word Problems: Extra Practice

| ~. Ms. Cardozo sold 600 tickets for the high school play. If adult tickets cost $6 each and
student tickets cost $4 each, how many of each type of ticket did she sell if $2,900 was
collected in ticket money?

AL Anl Wl e da Adprd
Define your variables: 4 ot adud 'M;Hh \l/' Mol <tudent tikeds
Set up your equation: Xk \II =0/00)
o =o)Ly oY =- 30 Lt =8900

L

loye+ L{\‘f 3900 —/ WY 1 L[\I - 390t .
=~ 10D Y+ 35D~ 0
\= 0 Y= 350

Solution: @)61\ @d&( “ﬁ h@(“jl jS/)U ‘jih}@ﬁ 1 ijg

!

2 The sum of two numbers is sixteen. Three times the larger number equals the sum of
four times the smaller number and six. Find both numbers.

Define your variables: N aley # L= layg ey B
N, Set up your equation: St L=y — St =ll Y L=t J+¢ /
AL =454 L= lo-$ 3l ia_\}gfb
SIL=le s
otL=\b (=S
L=10

Solution: (\@ (1 (L

< The length of a pool is three meters more than twice its width. If the perimeter of the
pool is 36 meters, find the dimensions of the pool.

Define your variables: ,( = Lot AN W (EUTIN
Set up your equation: it Ak = Al Awtal=30, )-qwt3
(- w3 [-aw) A taEw 3 g(5)13
Iy tHW o= 3L 1= (043
kp’- Pl iw (o = 30 <193
e =" W=5

: WG L & Leve  lonaba (A med ors
Solution: __\ 4‘\@ N0 WWeTEVS L0 nGrn . | D IS
(30)




4. Mr. Chesbro has one solution that is 25% acid and a second that is 50% acid. How many
liters of each solution should be mixed together to get 10 liters of a solution that is 40%

acid?
Define your variables: Y= 0l o <571 NZ G O oy
Set up your equation: Y 4 [Z [0 |
(Y’ \/ I( ")")“ ) " \ ) 'a"\) A * Y 6b\/ S ‘, J‘/‘)
Vo)t LS50 [ u . ){)a‘, ' \ | - #
\/' VZ
Solution: L 0+ OD/¢ L
5. Mrs. Wescoe wants to buy a mixture of candy from a candy store. Jelly Belly jelly beans

are worth $2.45 per pound and Starburst candies are worth $2.30 per pound. How much
of each kind of candy should be mixed to create a 30-pound mixture worth $2.35 per

pound?
Define your variables: | JUY beans N\ 1bs of SiaybuSEe
Set up your equation: X* \41 =350 |
= A45¢ + 920 V= d55(20)
' A ! ‘ i O 7705
AADYX - Q / f,gﬂC!\‘ &
’Q’»["\\/'«! ) (N //» .
rr/‘/}j l\ \ ‘ 2 r Y 1 ) 1
Y= 10 Solution: 1) W U i VRGNS O 1% O NIOY puy<ts
6. - At alady Gaga concert, long-sleeve and short-sleeve t-shirts can be purchased. A long-

sleeve t-shirt costs $25 and a short-sleeve t-shirt costs $15. During a concert, the t-
shirt vendors collected $8,415 from the sale of 441 t-shirts. How many short-sleeve t-
shirts were sold at that concert?

Define your variables: [~ ot Slecw
Set up your equation: Xy = T
Y 4\ 3! ] (”:)\[7 ,"’;a/’,ﬂ’/g,;_, 2 - e
/l ) , v al 5 J !' it
: - { = Juhi: Y .'wi-:\
N =1 €D \ =30

Solution: QU | YO V¢ Shirt




it Montgomery UMS is selling tickets to a choral performance. On the first day of ticket
' sales, the school sold 3 senior citizen tickets and 1 child ticket for a total of $38. The
school took in $52 on the second day by selling 3 senior citizen tickets and 2 child
tickets. Find the price of a senior citizen ticket and the price of a child ticket.

Define your variables: Y o St X \ &(;j dmd (1

\ Set up your equation: SN A\ = 214 |
YA+ \ = 2¥) )-ﬁ‘-)if",(f )X 3/3()
\ _ /\\ o !/ - :/\y l/ﬁ “x;/~ \/ ’{“(r
=M (e
& %) \//, |(—;
{ ( - Nl [ (
Solution: NI ) 34 ( \‘\\M ¢ }JT
8. Mr. Reed invested $500 into two different savings account. He put some money into
Bank of America, earning a 7% interest rate, and he put the rest into Wachovia, earning a
10% interest rate. How much money did he put into each bank, if he made a total of
$45.50 in interest?
Define your variables: (= (Wit ((\ ix A J= Gt 1 Wagh.
A Set up your equation: N\ =900

(X 4\ - f@() e / 290 NINC -\b 4550

oCO0M & l,b\/:'—g”i,/;@) € "'\3.\‘* yss0 Y \/ 50U

| Z2\=10f U Y+ 350= O
V=30 >(; I’)O

\
N

solution: B150D 1n Pt O .\r‘\\\‘!(\if a £ Nag r

o Amy invests a part of $8000 in bonds paying 12% interest. The remainder is in a savings

account paying 8% interest. If she receives a total of $840 in interest for one year, how
much does she have in each account?

|
Set up your equa’rlon XAN)= & U

SO Y= SUOL) - 5 €y =-(ap=art. bEy=¢4O

)’v ',4;;;\,,) H\/e E‘/ ',_'-.‘;L(V;Q X+ %’ 009,
L]y = 30000 DO+ = §000

- X - I \ ’/“- 2000

; s Vet tn L i =N ok Tiina~ €9
Define your variables: X~ QWT 0\ HONAS (oo N~ Ot W WALINY/A 8 %o

\r] T T F~+v Al
Solu‘rion:%j‘d\>D N joonds B ’L-‘f ) 1 SWIngd

&
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_|cnapter 7: Putting 1t ALL Together

— 1 \whot does this all really mean?

’____,,.-{________
1
I
N

Y57 EMS OF [EQUATIONS]

| " Twe _eguaftions that we solve ot TR

-

| _once.

0 *There€ "a r€ .3 Ways 1o solve:
_ L. (rraphing (7. )

-—--Z-r... S_Ub_-t_S_i—_j_fg_t’ on (7 2) . --*-——-‘--——----~——----'---»-»——-.--._A,___.‘._.,______- S8 .

| ,,,\, - liminatio n.-,_(Z._.S___a_m_d_z._i{)__.,_ [
| -There are 3 possible solutions * (7.5) .
| one solution (an_ordered ,D__c_u'r)

¥ /pfersecting Lines !
_*This s +he _only ordered pair ...

",____,ntba_t___ m.g_lgg;_bg_tb_g%_ugj.[an;f_csl_c_« e

2, No Solution (a false algeb raic statement).

T

;__,#_4“,”____*_
S equations V€. -
B 3. Infinite Solutions (o +rue algebraic safermett

% Coinciding L"“6_5—-!.#-..CS_G_-L’HQ_@,_S‘_Q_mﬁ_Jg)__‘V_,»

S  ¥infinite ]?..Q_l‘.n:f_'_ﬁm_w.‘,i_lff__.5Q‘f.f_3.£.§{~.._}2._0_.'.ifb_.‘_~_, o

:-.______Aﬂ_.__... o €QUATIONS i T T
| __”im_e_;c'—;quaﬂoﬂs_-,arﬁ.-_._c_g_uj_\/._c_@l_cﬁ_b_J._Q_Si_ﬁ_m_,_;

S S—
_—  writtenin__differe nt Forms.

% Pgrallel Lin ﬁ_S.J_(s_,S_‘_.amC..,-.m ,,difﬁf‘_z’énf_mb) e
* No _orde re,g’_,p__cy'_f’_“_vyfleQ./Qegb_l?ﬁ/l——~—---—}-'_ iy



\ 7’
S

SNSTEMS of |JNEQUALITIES |(7.6)

s TWO Or _more /‘np%ua/iﬂes +hat we

Solve at once. I

~There 1S ONE way to solve-Graphing.

~This IS O _meticulous process-graph each

ineguality independent(y. Shade one

af o time! _(shade it ! watchon youtube) -

- There are 2. Possible Outcomes:

[.Sofution = +he overlap of shading

(+he sntersection of half ,D/a//)esj |

2 NoSolution-there is no everlap.

-what do_the._ordered pairs mean?

A_point in the overlap satisfies

AJ_L__[neqy_Q,L LLIESh
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CHQ;TER Chap‘ter TGSt C

For use after Chapter 7 .
s . '
SOIve the linear system by graphmg C , Answers Y
f. 3x+5y=—18yn:-3y 2. 2-y=6 Y3 afw‘ 1XMWSﬂJUAWGJ3)
4x + 2‘3’ —LN—IO ==~ 4x = 2y=t % ',,\/;, X 4 © .- Seeleft,
' Yy ‘ A A Al E ~ ,
- 1 Y : . o ‘ i N |
al ~ A TE - 20 NO DU
.I\ - — 1 X . : ) . ) .
- ' \\ ' 1 - . See left. &
s e YQ utlon (-3,5)
| B \1\ - /@ : SRR Seeleﬁ |
3. ?x+iy4=kf4 . T : l’ o .. _ o (9 0))
'3 \ . S . -
—x +y“‘3 - . ’ . \ 0
DS AR W NS N - N i
J.f -~ - . \ e
5 . 6 (J -AJ
o : | R, * —
P L o3
I .
Solve the linear system using substitution. S _ 8. 1N LJ' : - .
' :) 4. 3x—2y=6 5. 4x+3y=11 6. .4x+5y——.-'18 . 9. (. 4 /.f O
1 L4y =8 Ix—y=5 CxeOp=—12 © . HOQ( L ittt
. o '1 - - - 10. .01 _Lwc
: 77.~x+6y‘=—17' | 8. x——2-y=1'-< 9. 4x‘+-§y=—§ . (3\,9)
04x+05y=—11 2 1 .3 __5

b debed LTS

. 10. A restaurant owner wants to add imitation maple syrup that costs
$4.00 per liter to 50 liters of pure maplé syrup.that costs $9.50 per- -
- liter. How many liters of imitation maple syrup should be added to - 1a. )’/\ :
make a mixture that costs $5.00 per liter? 3 ' )
(35 )

' So_lve'_the linear system using elimination. '

1. 3x—6y=6 - 12 4x+3y=4 13 - dy=8 . 5 ?>> -
53 dy= 8x+6y=8 . Sx+3y=—6 " 11magf [ XD me ]y
14... 5y+2x—5x+1 15. 5x—-‘2y=.8x—1 16. %;}—'%y=,1 . il ; - ;‘;\(;‘rn‘. .
3x—-2y-—-3+3y : 2x+-7y=4y+9, B g
' : -5-x+-3-y=5

Copyright © by McDougal Littell, a division of Hbughton Mifflin Company.

17, Flymg with the wind, a pilot travels 600 m11es between two cities in
four hours. The return trip into the wind takes five hours. The speed -
" . of the wind remains constant during the trip. Find the average speed : e
of the planc Wlth no wind and thé speed of the wind. . . . Lo - i

3 @ : ‘ > : Algebra 1 .
O . : Chapter 7 AssessmentBook 9
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c"“;ﬁ“ Chapter Test C continued |

For use after Chapter 7

4 Wlthout solvmg the Imear system, tell whether the linear
' system has one solutlon, no solut:on, or mf‘ n:tely many
solutions. :

18.

3x - 4y= 2 g . .A O.3x — 0.1y — 1'1 ' O.4x = 1.2y =2'4

. Write a sysftém of Ifnear inequalities for the shaded region.

21.

y T4 .. 22 shely

w

e ‘3 .5
1 L
: |

In Exerclses 23-25, use the followmg mformatlon.

A bakery sells cookies and cakes. The table shows the time that it takes to

. bake and decorate each batch of cookies and each batch of cakes, and the
- time the bakery can devote to bakmg and decorating cookies and cakes.

23 Wnte and graph a system
. of linear inequalities for

25.

the number x of batches

y
.8
g7 \
of cookies and the number § 6T
y of batches of cakes that % 51
. wn
the bakery can make under 24 _:.\..
. . Q- ~ -
the given constraints. & 3[R
: S @ 2 AN
N T-
. 1k \ :
o RN
0 4 8121620~*
. Batches
" . " of cookies

24, Find the vertlces (corner points) of the graph

The bakery makes a proﬁt of $20 for each batch of cookies and $30
for each batch of cakes. The profit P is given by the equatwn -

P = 20x + 30y. Find the profit for each ordered pair in Exer01se 24,

Which vertex results in the maximum proﬁt?

Algebra1

Chapter 7 Assessment Book - - @

.Answers

8. TN

12x~ 16y =8  19. 04x+ 0.5y =02 20. 0.2x —0.6y=06"

is.'ﬂ\f \*_)(\,((H' 10V

See left.

((),)> \("L;‘L':)
(014%) ((3)

25. Moy L*’;(%% ;

(Ul/)

Copyright © by McDougal Litté'll, adivision of Houghton Mifflin .Company. ( (
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y+ay-15 = r-\/=5
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3% a0
| =3
2) HVEBY=EIE s B U +5=]
O _H qy = la// 3/\/" = =34 Ul {Dm/ &
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Y gy =51 X (1,-3)
%. - Sa\i z| 2 X:&l\/Jf\ Q/X/L\/;l \/
a4y %( s 4y
» I R ‘NO Glution |
20\

@



@ %Z@J‘N\‘k' of imi (M/Z)/l

= ot ok purc

1. & o
Ny 5 K= Zy-5
4(ZY-5)* 3173 X= 345
\(p\/_&o\* 3 / 2 \ )(’(0~‘f)
*\Xx/'wo»\/:g X= | i N
,\’]\/: RS (ll %>
ye

iLfO.(]\ L of imitechon
Q0L of pure

\ § \/' KD —> K= 50-Y L:?’q/5>\/ ?;ISD : V=50
At _=p(5)- 50-Y) +9. 5\~ 35 . aame S
s Q_éy o AOO*L\P/\/\Lq,s\//:&b"D o 3(0—.1/0.011
A5y 350 400 +5.5y = 35D
55y~ OP
'Ttg% \J29.09
I-D' %X’LO\/:@ = g)(’(@\lﬁ(ﬂ 33('(0\{:(0
,&W'%\/:@ o S0 3(%'&0\(:‘(” 3 @) —
gv) :;]O a»b\lftﬂ 2' 3
X% 0y
B \,:-g
B 3y=) gy =8
EDSAUNERY %wr/&oj/j |
NN YIS
O~
INVER S f’l‘ﬁ"b\\':( ,a>
D)2y =g) Ax-lay=2 wies (O
Df&% >§<(+ 3\[ --) @*j\a,l.;éﬂ__ 2“” \‘ 9 L

'E



py3P

b) 5y RS0 ’3%*5\

D
X &\, 31« 5\) //3

®
oL+ = > 3}( a\} e B
R TR W

Qs =4 ol
SN+ SN -
| x/é)@gqq N=9
VAV O™
l@< X3 '> (W—‘gq:ig\ = 3 Gg@
)<,
¥r 5425 TSI $
245 ) | \3»4 o B koS
RQaON=T5 sy 5y=I5
- (605 AN =100 o \[/ i
)(;l/) P, ;\j’ |15
@ T e g 5
(. %d -t X=yorc of plant L
%60&((% (000 =¥ (J) // (¢ of V\Wd
i \NO=(
D Xyl o
-y 100 B3O 450 P\W’ 35 i [
=470 y-15 Nind: 15 m [ hr
Y =%



Y

@ \&% oy = & oy Loy ¢
Y3y SCo oy ® T NS
0

14 Q&%%+ yzoé> L

0, NS\ =4 L DN = A7 ||

SRR PYEIVAN D o e Sy (3
\ay =@’ -\=d 3

X =5 \/:*&

9‘(3% INE
> 8\4 &“} U\\D So\)mo

@@(Dw»om/
O L0 Ay 3 ) U e o ) N
- O
Dy @y @ Y0
n. L
L5 yza3 P VAR
(0.0)
(\D\@
(0%
/5 ((0‘57
& od o0, bt ) 02
p- %@“)*30@ 55000 3e) AGRINIDN AT
- =200 Pz a0 9= 130! av
P\ Za\0

Mo Pt f@@



\

AIPZ Honors

Algebra Practice Problems

Name:
Date:

Ch.7 €S+ Review

Worksheet generated at www.math.com

2) +x+5y=23 -X+5y-33
-2x + 5y =31 ~(-€)+5y =33

-X:8 8‘+g\/:d3 (8[%)

: x="8 5y =15
=3 /ot
3) -3x 44y = ’5\['4\|1§/ 4.) 4x+2y=£4 a)('a\l:(p
_3}_'*12)’_136_ qu(u)zg _ZL;2§L=_6_ A(8)-ay - Y
4 3 o A=S -2 =4
= \I:l
=i . B4 Zy=a
5.) —4x F 3y =40 . 6.) (-3x+3y=27) |ax-1J=-108 S 3y=d]
Sx + 3yy=44 LZZ(SEZ i?o §x+xl2y};52 a»ma\f—, 53 ’i(ﬁffj\*f* ,.
X =4 ot K HO A I ;(t;%(o 1“"’39/:@
23 (42 Vs

7.33(2x - 5y =-38) ~yvIsy=1{Y  AY-5N=-3F 8.)-;2(3x+2y=-35> “oX=th/=T0  2Zx+ay=-35

6x-4y=-48 Y- Yy--UE av-Hu)=38

12x+4y=-100 (A¥4+4y/=-100 Zghay=-35

” L *\'(g}éﬂ Y ~30=-%% » LO))((—’— 'éo ,Sf’o?‘/ - -35

9) 42xFy=421 3 =

10.)4(4x+3y=9> 1o X+ 13y =30 4X+3y=9

-2x+2y=-22 N - -16x-4y =20 -1pX-4y=30  Yxs3(7)=9
VERS (= 17 gy=5lp Ux+al=q

/ =10 3:7 Hx=-13

‘/%\/’ X=-3

117(-x+5y=43) OWFSY=AI5 Svay=1a 12)3(4x-29=-6) Gy-uye-1R  4x-BY0
Sx+y=19 6Y+\/ =19 5%+Q-19 3x+4y=12 ?lquf(% L{(O)-’%\/T b
doy=a4 OX= gﬁ ;- [\y¥=0 Y=l

ém) = (O3 = =

13-)-2><+4y=+\12 AL-ty =19 ( , 14) 4x+y=24 4y \[=M
+ (10%) (54)

Sx-4y=18 A()-Hy =13 :
3X=3%0 00~y =-le 3yY-13 Yx=a0

S S

-4x 4 2y =12 Yy u-od



15) x-2y=-11  X-ay=-Il
-5x+2y=-17 3y
X=38& L

X&) \\;

17.) x=-5y-45 -5

x=3y+35 0= 9y

((65,10) o

19) x=-3y+10 5[-3/*0) »/’40

5x + 5y =40 /BVJGO Nk
10N+ 5D=4 D
EN g =dignf == 10
N N =]
- 50D+ 10 ’

RO LI T

g a>

45 - w435 X=2Yt%

X=31my+%
X= 3025
X= (09

//
\\-‘/
16) y=3x+32 Y22y +53
4x—-44+2y y = 40)+33
L+>( qq t8(3x+33) - -t
LY J"(@YL @4 Iv, GIO[&>
~2a¥= 30 / A
X=-10
18.) x=y+1l Xz )
% ?Y,.43 X=-gr\\ (2-¢)
Y I g T {\ “l #
V"%

20.) Sy+2x=-16 Sytav--lo

y=-Xx- 8 5(-x-8) tax=-le
—SX=4o+a¥=-10
: x4
i X=-g L
Y-l € 9
Nk
\123‘3 ( | D gt
\} 20 g \>



